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QUESTION 1

Which of the following results in improving performance of a load job to load data into an indexed partitioned table space
with multiple indexes? 

A. LOG YES 

B. PREFORMAT 

C. SORTKEYS integer 

D. convert input data 

Correct Answer: C 

 

QUESTION 2

Which clone table statement is correct? 

A. A clone table can have its own indexes. 

B. A clone table has its own catalog statistics. 

C. The clone and base tables share a table space. 

D. The clone and base tables must have different schema names. 

Correct Answer: C 

 

QUESTION 3

What is the DSNZPARM that determines the maximum amount of temporary storage in the work file data base for a
single user at any given time? 

A. MAXRBLK 

B. MAXDBAT 

C. MAXKEEPD 

D. MAXTEMPS 

Correct Answer: D 

 

QUESTION 4

When specifying "A" for the acceptance option in the column SECURITY_IN in the SYSIBM.LUNAMES catalog table,
which statement is correct? 
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A. An inbound ID is subject to translation. 

B. A request does not need an authentication token. 

C. With this option, VTAM cannot be defined with SECACPT=ALREADYV. 

D. For outbound requests, the encrypted password is extracted from RACF. 

Correct Answer: B 

 

QUESTION 5

Which privilege allows the execution of the EXPLAIN STMTCACHE ALL SQL statement? 

A. SYSOPR 

B. SYSCTRL 

C. SQLADM 

D. SECADM 

Correct Answer: C 
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